Superimpositions of polar surfaces, with many tilts and turns:
p1 = 2.55in 150 exp (cos 40) , py = cos 460 exp (cos 40) + sin” 40 exp (cos 40) , p; =
—2.58in 156 exp (cos 46)










Superimpositions of five polar neted surfaces composed with turns and tilts:
p1 = 2cos 3 (expsin 30) exp sin 36 exp (sin 3 (expsin 36)) , py =
1.3 exp(sin 3(expsin 36)), p3 =
—3cos 3 (exp sin 30) exp sin 30 exp (sin 3 (expsin 36)) , py =
—3cos 3 (exp sin 30) exp sin 30 exp (sin 3 (expsin 30)) , ps =
—3 + 3 cos 3 (expsin 30) exp sin 3¢ exp (sin 3 (exp sin 30))







Superimpositions of polar surfaces, with many tilts and turns:
py = 2.5sin 150 exp (cos 46) , p, = cos 46 exp (cos 40) + sin” 40 exp (cos 46) , p; =
— (cos 46 exp (cos 46) + sin® 40 exp (cos 40)) , p, = — (2.5sin 150 exp (cos 46)) — 1
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